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2014 Q/LOS Training

Data Sources Workshop Problem
Answers
§ Area Type = Other Urbanized
§ AADT = 16,647
§ K-Factor = 9.0
§ D-Factor = 52.3
§ Peak Direction = NB
§ % Heavy Vehicles = 1.0
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2014 Q/LOS Training

GSVT Example #1
Determine the max. service volume for LOS E:
§ In terms of AADT
§ In a core urbanized area
§ For a 10-lane freeway
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LOS E 222,700



2014 Q/LOS Training

GSVT Example #2

Determine the auto LOS:
§ In terms of peak hour directional volumes
§ In an undeveloped rural area
§ For an uninterrupted flow highway with

§ 2 lanes (one in each direction)
§ No median/undivided
§ No passing lanes
§ Peak hour directional volume is 400
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Answer LOS C



2014 Q/LOS Training

GSVT Example #3

Determine the auto LOS:
§ In terms of AADT
§ In a developed rural area (pop. 3,000)
§ For an uninterrupted flow highway with

§ 4 lanes
§ 25,000 AADT
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Answer LOS C

§ No median
§ Exclusive left turn lanes

25,900 * 0.95 ≈ 24,600

Answer LOS B ?

24,600 < 25,000



2014 Q/LOS Training

GSVT Example #4
Bicycle Mode
Determine the bicycle, pedestrian, and bus LOS:
§ In terms of AADT
§ In an urbanized area
§ For a state signalized arterial with

§ 2 lanes
§ AADT=13,000
§ 3 buses/hour
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§ 40% bike lane coverage
§ 90% sidewalk coverage

Bike Mode LOS E



2014 Q/LOS Training

GSVT Example #4
Pedestrian Mode
Determine the bicycle, pedestrian, and bus LOS:
§ In terms of AADT
§ In an urbanized area
§ For a state signalized arterial with

§ 2 lanes
§ AADT=13,000
§ 3 buses/hour
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§ 40% bike lane coverage
§ 90% sidewalk coverage

Pedestrian Mode LOS D



2014 Q/LOS Training

GSVT Example #4
Bus Mode
Determine the bicycle, pedestrian, and bus LOS:
§ In terms of AADT
§ In an urbanized area
§ For a state signalized arterial with

§ 2 lanes
§ AADT=13,000
§ 3 buses/hour
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§ 40% bike lane coverage
§ 90% sidewalk coverage

Bus Mode LOS C



2014 Q/LOS Training

HIGHPLAN
Example #1: Model Inputs
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2014 Q/LOS Training

HIGHPLAN
Example #1: Model Results
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2014 Q/LOS Training

HIGHPLAN
Workshop #1: Model Inputs
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2014 Q/LOS Training

HIGHPLAN
Workshop #1: Model Results
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2014 Q/LOS Training

HIGHPLAN
Workshop #2: Model Inputs
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2014 Q/LOS Training

HIGHPLAN
Workshop #2: Model Results
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2014 Q/LOS Training

HIGHPLAN
Workshop #3: Model Inputs
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2014 Q/LOS Training

HIGHPLAN
Workshop #3: Model Results
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2014 Q/LOS Training

HIGHPLAN
Example #2: Model Inputs
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2014 Q/LOS Training

HIGHPLAN
Example #2: Model Results
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2014 Q/LOS Training

HIGHPLAN
Workshop #4: Model Inputs
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2014 Q/LOS Training

HIGHPLAN
Workshop #4: Model Results
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2014 Q/LOS Training

HIGHPLAN
Workshop #5: Model Inputs
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2014 Q/LOS Training

HIGHPLAN
Workshop #5: Model Results
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2014 Q/LOS Training

HIGHPLAN
Workshop #6: Model Inputs
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2014 Q/LOS Training

HIGHPLAN
Workshop #6: Model Results
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2014 Q/LOS Training

FREEPLAN
Example #1: Model Inputs
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2014 Q/LOS Training

FREEPLAN
Example #1: Model Inputs
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2014 Q/LOS Training

FREEPLAN
Example #1: Model Results
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2014 Q/LOS Training

FREEPLAN
Workshop #1: Model Inputs
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2014 Q/LOS Training

FREEPLAN
Workshop #1: Model Inputs
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2014 Q/LOS Training

FREEPLAN
Workshop #1: Model Results
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2014 Q/LOS Training

FREEPLAN
Workshop #2: Model Inputs
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2014 Q/LOS Training

FREEPLAN
Workshop #2: Model Inputs
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2014 Q/LOS Training

FREEPLAN
Workshop #2: Model Results
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2014 Q/LOS Training

FREEPLAN
Workshop #3: Model Inputs
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2014 Q/LOS Training

FREEPLAN
Workshop #3: Model Inputs
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2014 Q/LOS Training

FREEPLAN
Workshop #3: Model Results
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2014 Q/LOS Training

FREEPLAN
Workshop #4: Model Inputs
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2014 Q/LOS Training

FREEPLAN
Workshop #4: Model Inputs
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2014 Q/LOS Training

FREEPLAN
Workshop #4: Model Results

39



2014 Q/LOS Training

FREEPLAN
Workshop #5: Model Inputs
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2014 Q/LOS Training

FREEPLAN
Workshop #5: Model Inputs
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2014 Q/LOS Training

FREEPLAN
Workshop #5: Model Results
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2014 Q/LOS Training

ARTPLAN
Example #1: Model Inputs
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2014 Q/LOS Training

ARTPLAN
Example #1: Model Inputs
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2014 Q/LOS Training

ARTPLAN
Example #1: Model Results
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2014 Q/LOS Training

ARTPLAN
Example #2: Model Inputs
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2014 Q/LOS Training

ARTPLAN
Example #2: Model Inputs

Multimodal Inputs
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2014 Q/LOS Training

ARTPLAN
Example #2: Model Results
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2014 Q/LOS Training

ARTPLAN
Workshop #1: Model Inputs

49



2014 Q/LOS Training

ARTPLAN
Workshop #1: Model Inputs
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2014 Q/LOS Training

ARTPLAN
Workshop #1: Model Results
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2014 Q/LOS Training

ARTPLAN
Workshop #2: Model Inputs
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2014 Q/LOS Training

ARTPLAN
Workshop #2: Model Inputs
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2014 Q/LOS Training

ARTPLAN
Workshop #2: Model Results
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2014 Q/LOS Training

ARTPLAN
Workshop #3: Model Inputs
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2014 Q/LOS Training

ARTPLAN
Workshop #3: Model Inputs
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2014 Q/LOS Training

ARTPLAN
Workshop #3: Model Results
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2014 Q/LOS Training

ARTPLAN
Workshop #4: Model Inputs
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2014 Q/LOS Training

ARTPLAN
Workshop #4: Model Inputs
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2014 Q/LOS Training

ARTPLAN
Workshop #4: Model Inputs
Multimodal Inputs
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2014 Q/LOS Training

ARTPLAN
Workshop #4: Model Results
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2014 Q/LOS Training

Additional GSVT Problems
Workshop A-1
Determine the auto LOS:
§ In terms of AADT
§ In an urban area (pop. 12,000)
§ For an undivided state arterial with

§ 30 mph speed limit
§ 2 lanes
§ 10,000 AADT
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Answer LOS D



2014 Q/LOS Training

Additional GSVT Problems
Workshop A-2
Determine the auto LOS:
§ In terms of AADT
§ In a developed rural area (pop. 4,500)
§ For an uninterrupted flow highway with

§ 2 lanes
§ No median
§ Annual average daily volume of 32,000
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Answer LOS F



2014 Q/LOS Training

Additional GSVT Problems
Workshop A-3
Determine the auto LOS:
§ In terms of peak hour two-way volumes
§ In a transitioning area
§ For an 8-lane freeway with

§ Peak hour two-way volume is 12,400
§ Ramp metering
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Answer LOS D

12,170 * 1.05 ≈  12,780
12,400 < 12,780



2014 Q/LOS Training

Additional GSVT Problems
Workshop A-4
Determine the auto LOS:
§ In terms of peak hour directional volumes
§ In an urban area
§ For a non-state signalized roadway with

§ 45 mph speed limit
§ 6 lanes (3 in each direction)
§ Peak hour directional volume of  2,500
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Answer LOS D

2,670 * 0.9 ≈ 2,400
2,500 > 2,400



2014 Q/LOS Training

Additional GSVT Problems
Workshop A-5
Determine the max. service volume for LOS E:
§ In terms of AADT
§ In an urbanized area
§ For a state signalized arterial with

§ One-way
§ 2 lanes in travel direction
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LOS E 20,280

§ 30 mph speed limit

33,800 * 0.6 = 20,280



2014 Q/LOS Training

Additional GSVT Problems
Workshop A-6
Determine the max. service volume for LOS E:
§ In terms of peak hour two-way volumes
§ In an undeveloped rural area
§ For an uninterrupted flow highway with

§ 6 lanes
§ No median
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LOS E 6,180

§ No exclusive lefts

8,240 * 0.75 = 6,180



2014 Q/LOS Training

Additional GSVT Problems
Workshop A-7
Determine the auto LOS:
§ In terms of peak hour directional volumes
§ In an urbanized area
§ For a freeway with

§ 6 lanes (3 in each direction)
§ Auxiliary lane
§ Peak hour directional volume of 4,000
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Answer LOS B

3,360 + 1,000 = 4,360
4,000 < 4,360



2014 Q/LOS Training

Additional Problems
Workshop A-8
Determine the auto LOS:
§ In terms of peak hour two-way volumes
§ In an urban area
§ For a non-state signalized roadway with

§ 30 mph speed limit
§ Exclusive left turn lanes
§ Peak hour two-way volume of 1,240
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Answer LOS F

§ 2 lanes
§ Median

-0.10 + 0.05 = -0.05
1,280 * 0.95 =  1,220
1,220 < 1,240



2014 Q/LOS Training

Additional GSVT Problems
Workshop A-9
Determine the auto LOS:
§ In terms of peak hour directional volumes
§ In an urbanized area
§ For a divided state signalized arterial with

§ 4 lanes (2 in each direction)
§ 45 mph speed limit
§ Peak hour directional volume of

1. 1,000
2. 3,000
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Answer 1 LOS C

Answer 2 LOS F


